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Section: ‘A’ Mathematics and Statistics

Tick “V' the best answer
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If a/b = 3/4, then the ratio of 6a+b to 4a+5b is

a. 5:9 b. 11:16 c. %11 d. 3:16
A coin is tossed once. The probability of getting either head or tail is
a. 1/2 b. 1/3 c.2/3 d 1

If the digits of the numbers 5 72 6 9 8 4 are arranged in ascending
order, how many digits will remain at the same position?

a. None b. one c. two d. three
120 is 80% of which number?

a. 80 b. 100 c. 125 d. 150
If 4x+7 is 19, find the value of 2x-5.

a.lb.2 6.3 d. 4

The total of ages of three persons A, B and C is 75 years. What was
the total of their ages 4 years ago?

a.72 b. 69 c. 66 d. 63

A vendor purchases bananas at Rs 4 per unit. If he sells 4 dozens of
banana at Rs 240. What is his profit percentage?

a. 25% b. 20% c.28% d. 15%
What is the next number in the sequence 4, 10, 22, 46, 94, ...?
a, 162 b. 146 c. 190 d. 204

Think a number, multiply it by 12 and then add 24 to it, the square
root of the resulting number is 12. What is the number that you

thought?
a. 8 b. 10 ¢ 12 d. 24

10. How many numbers between 10 and 210 are divisible by 8?

a. 15 b. 19 .25 d. 28

Section ‘B’ English

11. Nine tons of cement .......... ...... nOt enough for this building.

a) are b)is ¢)has d) have
12. Father forbade me......ccccoveercconennees

a) smoked  b)smoke ¢) to smokg d) smoking
13. Did you................the cookies? .

a) bake b) baked c) bakes d) baking
14 Eetime havs aieal,.cuu v immanimainssmigm

a) Shallwe b) Shan'twe c)aren't d) Will you
15. He got a servant............cccoeeererereecnnnen. the room.

a) Clean b) to clean ¢) cleans d) cleaned
16. If I knew him, [.........................help him.

a) would b) will ¢) can d) could
17. The inflectional suffix in the word 'catches' is pronounced as.

a) /s/ b) /z/ c)/1Z/ d) /ez/ ,
18. Sita plays......cceereeraerennnnn flute well.

a) a b) the c)an d) no article

19. In the sentences "Let me have a look", which word class does the
word 'look’ belongs to ?
a) noun b) verb c)adjective d) adverb
20. She failed the exam..........cccceeeenererereresenennnenn. NET StUpIdity.
a) because b)although c)in spite of d) because of
Section ‘C’ Economics
According to the wealth definition of economics, what was the
primary focus of economic activity?
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a. Maximizing consumer satisfaction. b. Accumulating tangible
assets and resources.
C. Minimizing income inequality. D. Managing government
expenditures. i ) .
22. What is the primary focus of microeconomics?
A) The study of aggregate economic variables and their
relationships.
B) The study of the economy as a whole.
C) The study of individual consumer and firm behavior.
D) The study of international trade and exchange rates.
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Which of the following factors can lead to a shift in the supply
curve?

A) A change in consumer tastes and preferences.

B) A change in the price of the product.

C) A change in the number of sellers in the market.

D) A change in consumer income.

Which of the following _u_.oa:oa is likely to have the most elastic
demand?

A) Basic groceries and necessities. B) Luxury cars.

C) Prescription medications. D) Tap water.

The law of diminishing marginal utility suggests that:

A) As income increases, consumer preferences shift.

B) Consumers always choose the most expensive products.

C) As consumption of good increases, the additional satisfaction
from each unit decreases.

D) Luxury goods have higher marginal utility than basic
necessities.

The relationship between E_uﬁm and outputs in the short run _m
described by the: :
A) Law of demand. B) Law of supply.

C) Law of diminishing returns. D) Law of opportunity cost.
What is the primary goal of fiscal policy?

A) To influence the overall level of economic activity and
stabilize the economy.

B) To regulate international trade.

C) To control the money supply andinterest rates.

D) To manage individual consumer behavior.

Which of the following is not a topic typically studied in
macroeconomics?

A) The behavior of individual households.

B) Economig growth and development.

C) Inflation and deflation.

D) Unemployment and labor markets.
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What is a key reason for the existence of barziers to entry in a
monopoly market?

A) The presence of many competitors.

B) Lack of demand for the product.

C) Patents, copyrights, or exclusive access 1o resources.

D) Government regulation promoting ooatc::o:

What is a budget deficit?

A) When government revenues exceed government
expenditures.

B) When government expenditures exceed government revenues.
C) When the government balances its budget.

D) When government borrowing reaches a specific limit.
Answer

Section ‘D’ Accountancy

Who is called the father of modern accountancy?

a) Luca Pacioli ¢) R N Anthony

b) R.Lewis d) L C cropper

Accounting cycle doesn’t include the following function.
a) Recording of financial transactions

b) Classifying financial transactions

¢) Decision making

d) Communicating the financial information

Who regulates the Nepal Accounting Standard (NAS)?
a) Nepal Government

b) ICAN

¢) Ministry of Finance

d) NEPSE

Which is the rule of journalizing in personal account?

a) Debit the receiver, credit the giver

b) Debit what comes in, credit what goes out

c) Debit all expenses and losses, credit all incomes and gains
Cash or goods is taken by proprietor for personal use is
called..
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40.

a) Depreciation
b) Drawing

c) Losses

d) Assets

. How many parties include in a cheque?

a) 2

b) 3

c) 4

d) 1

Who regulates all banks in Nepal?

a) Nepal Rastra Bank

b) Nepal Bank Limited

¢) Rastriya Banijya Bank

d) Standard Chartered Bank Nepal Limited

- In which condition a cheque will be dishonored?

If cheque amount is insufficient in bank account
If Cheque is wet and teared.

[f amount in figure and word is different

All of above.

. What is the full form of ATM in banking system?

a) Automated Teller Machine

b) Any Time money

¢) Autonomous Time machine

d) Automobile Training Mechanic
What is ABBS in banking system?

a) Any Branch Banking System
b) Any Building Boring System

¢) Asian Bank branch system

d) None of above

Section: ‘E’ General Knowledge

41. Which country is the winner of Women's World Cup Football
2023 Championship?

a. Spain b. Germany

c. England d. Poland

42. The district in Nepal has border with both India and China.
a. Sunsari b. Manang
c. Darchula d. Solukhumbu
43. Whobegan the culture of "Kumari Pooja" in Nepal?
a, Amsubarma b. Gunkamdev #
¢. Narendradev d. Pratap Malla
44. The first governor of Nepal Rastra Bark is
a. Padma Samser Rana b. Laxmi Prasad Devkota
C. Mohan Samsher Rana  d. Himalaya Samsher Rana
45. RupseJharana is located in the district

a. Myagdi b. Dolpa
c. Palpa d. Baglung
46. Find out the oddone: Lumbini, Karnali, Koshi, Bagmati
a. Karnali b. Lumbini
c. Koshi d. Bagmati
47. Which of the following month contains 30 days?
a. January b. March c. April d. May
48. According to Nepal Census 2021, the average annual population
growth rate is
a. 1.15 b. 1.08 c. 0.88 d. 0.92.

49. P is shorter than R and taller than Q. Q is shorter than R and taller
than S. Then which one is true?
a) P is shorter than S b) P is taller than S

¢) S is taller than R d) R and S are equal

50. BLACK is coded as EODFN and KITE is coded as NLWH. Then
CAMPUS is coded as:
a. DBNQVT b. BZLNTR

¢.FDPSXV  d.QVRYTS



